s sba 5 3lson K55l 1y Ly s Sl 5SS e o i peSms )5S
2 & e 303530 1 ) SN 51 IS sl St a5l i Sl B ams o 350 1 0
il 01d Ol 5 05 By ool (el Gl 85l 5 00 0

algorithm network simplex;

begin
determine an initial feasible tree structure (T,L,U);

let x be the flow and m be the node petentials
associated with this tree structure;

while some nontree arc violetes the optimality conditions do

begin

select an entering arc(k,l) violating its optimality

conditions;
add arc(k,l) to the tree and determine the leaving

arc(p,q);
perform a tree update and update the solutions

X and T;
end;

end;




